S475/1

SUB MATHEMATICS
Paper 1
July/August,2023
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\ SECTION B: (60MARKS)
Attempt fi stions. i i
3 Pt Iour (4) questions, including at least one question from part 1 and part

PART 1
9. Given the curve y = x x2—=12),

(a) Determine;

(l) The co-ordinates and nature of the turning points
(ii)  Sketch the curve

(b) Find the area enclosed between the curve and the X-axis. (15marks)

10.A Par?icle moves in a straight line so that t seconds after passing a fixed
pomtin the line, it’s velocity V ms™ is given by
¥=1Le -3ty

Calculate:

(a) The velocity after t = 8s (2marks)

(b) The acceleration when t = 0 (3marks)

(¢) The minimum velocity (4marks)

(d) The distance travelled in the third second of motion. (6marks)
11.(a) The expression 6x” + x + 7 leaves the same reminder when divided by

X —aand by x + 2a, when x # 0 calculate the value of a (Smarks)

(b) If < and B are the roots of the quadratic equation x* — 4x + 2 =0,

find the;
(i)  Find the of value of % (3marks)
WA
e (3marks)
(ii) Determine the Quadratic equation whose roots are «<*and f3

(4marks)

12. For an in service course in physics, at least four but not more than nine
teachers are to be chosen. The ratio of the number of male teachers to the
number of female teachers must be less than 2:1 and there must be more

males than females.
(a) Write down in their simplest form the inequalities which must be
satisfied (Smarks)
(b)Represent the information above on the graph paper and find the
composition of the in service group of;
(i)  The largest size
(i)  Smallest size (10marks)
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Henm Price (shs) Amount |
2000 2021

Flour per kg 7000 8.800 3

Sugar per kg 5000 4000 1

Milk per litre 1500 2000 7

Per Egg 400 500 8

() Caleulate the weighted aggregate price index taking 2020 as the base
year.
(i) In2021, the cost of making a cake was shs 90.000, using the weighted
- aggregate price index above, find the cost of the cake in 2020.
(9marks)

- 16.(a)Joan played 12 chess games, the probability thmi;é wins a game is 3/,.
i

Find the probability that she will win; ‘ﬁ‘ﬁ!«r - |
(i) Exactly 8 games
(i)  More than 10 games
e (i:u) Calculate the expected nus

(b)

Wtﬂl mean lkg and standard |
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